Al = 0l & AFE B Al A

2023 20fAF LEHE| | lFAIR=
SA: OBIAIR2
i XLol3| 2% N (YBBIHUE/AHU LN 2R)
Crel: HRIols|At HEl (CHol: M2l
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
O[S AIR= 1,877,805 1,846,865 30,940
Kol 2 X (L2 HF/AHY AN RR) 1,490,588 1,502,122 AT11,534
Io3|AF HE 241,177 240,410 767
o¥gs 8% 243 161,000 160,500 500
201 LB 161,000 148,500 12,500
01 AlR2r2IH] 161,000 148,500 12,500
Oomas 2= 900,00024% 122 10,800
OZEX #¢ 5002, 0000H 1,000
Os& H& 40021%5,0000H 2,000
O3010tg JMZ 2,000 %5000H 1,000
Oo3|¢2)|=E(82)E M
10,00024*1,0004 10,000
OB2SH(UE) M
250,000 4% 1,000
OB E2H| 2,000,000 *503] 100,000
O2slgtsAAl 25 1,200, 00021+63) 7,200
O™ AAIX HIZ 12,000,000 %23 24,000
OoFLN Q= TA M=
100,000 %403 4,000
Al BDNIGHE 293 2& 80,177 79,910 267
201 LB 76,335 67,460 8,875
01 AlR2r2/H 23,335 13,560 9,775
O3lolz 2|08 2
193,60024*50 A1 2 9,680
O3lel= D E A 8,750
—H3l 35,0002 %250 %23 1,750
—ZAl=l 35,0002 x2501+83] 7,000
O9JARIH SETIY HAEZ| 7o
150, 0002 *4H 600
O2lg pc42l 100, 0002 %24 CH*20% 480
OFEAEOI5| DAl 29 3,825
—HAHOB| DA EY F40 HE
55,00024* 1574 A 825
—HAHOIS WAl QIS HIE
10,00024*3005 3,000
02 2229 33,000 32,400 600
O%I3|1ZHI0IX RXI22
1,000,000 * 122 12,000
OFloE a8 2He3
100,000 103 1,000
O3lol gab|=2 22+ IHMl HIAl
2,000,000 %103} 20,000
03 B AF2 20,000 21,500 AT1,500
OArQ25|1 =2 ZH3| L MIDILE IHE
20,000,0002 %14l 20,000




2A: 2FAR=
M XYol3| 29 X (LB IF /AL A 22)
thel: gelols|at g (Crel: &)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
EIEEEE] 3,842 3,450 392
11 BAFAHIXI S 2,642 2,250 392
OFAHO5| MZIOI5| o|F A5t
90,00024*25% 2,250
OFAHEOIE| o2 AAL HIZ S
7,0002%14% 43| 392
14 JIEtE A3 1,200 1,200 0
OAUQ 25| U SHRSF| D12t HAIX} AlH|EAY
80,00024x5 33| 1,200
B[ OHEX 1,249,411 1,261,712 A12,301
EEEEREE] 959,987 RB1,475 28,512
201 L2 A 41,090 27,790 13,300
01 AFR2t2IHI 41,090 27,790 13,300
OXA W= 700,0002 152 *23) 21,000
OXlgols AT S WEH|
200,000 +6H 1,200
OZR2ANA MAIRIRE| EAlLg
70,0002 +5 %43 1,400
OoF2Y WATA 7
20,0009 +2002 4,000
Q=S8 10,00024+302 122 3,600
OoEHER 1= 4,590
— XX A 5,000 x202% 122 1,200
— XIS XK 6,0002 %205 122 1,440
e \PNESIRS| 5,0002*20 2% 122 1,200
—JI|E} 150,00024*55 750
OQIAIRIRIB| Bt
70,0002 *6H*53] 2,100
OsCIMAI22R 3] 3,200
—&8xg 70,0002 %543 1,400
—&4S0l 90,0002 %543 1,800
202 O] 36,000 36,000
AENECE] 36,000 36,000 0
QAIZXUNEAl &2 L MR 48
2,000,000 %22i*43] 16,000
OJ|EXIEol5| =2 52t
2,000,000 x4 2413 8,000
OZAZTAIZOI5| OEEOI3| GHlgid 43
2,000,0002*5% 10,000
OL=2=E2AIZO5| =S5 Ghlgid 43
2,000,000 %1 2,000
205 2|3|H| 873,897 858,685 15,212
NIEEESS] 184,800 184,800 0
(@ISRl 184,800




2A:

I XYo3 2Y N (LLSITHF/LHULH2L)
Eelr 8018 AFFX (CHol: X 2)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
NS SIS
900,000 % 14122 151,200
—BXRESH| 200,000 % 142122 33,600
(V2R=P<ES=] 325,116 317,772 7,344
OE¥+< 1,935,210 x 14212 325,116
03 2 A=LH0H| 45,360 45,360 0
O2o® MIDIL}, o1 S QJFFZE 0|
90,0002 * 142 +3* 122 45,360
04 2| 21=22/01H| 42,350 35,350 7,000
OZIIBAI8AL, 2B, KIOHZESA
7,350,000 % 14! 7,350
OZFAI2] QAHALR S 222l
2,500,0009x 14 %13] 35,000
05 QN 2HBS A 78,400 74,200 4,200
OoH2AZEAH|
425,000 *14H 122 71,400
Ose223] 1,000,00024+7% 7,000
06 23| 2P ARSI 67,560 67,560 0
O 2,100,000 * 12 *12& 25,200
O=2E 1,000,000 *12x12& 12,000
OaY/ARJE 660,000 *x3%4 122 23,760
OSEAAF (0 arB A, &21)
660,000+ 1H*103] 6,600
07 QAL LY (SBAE, I LK) 8,400 8,400 0
OoJd <IEtN=H| 200,000 142*33 8,400
08 2|2 2P| (2I2(E) 20,440 19,320 1,120
O3 e w=H| 730,000 %143 %23] 20,440
09 ol AT RI|LY| 70,000 70,000 0
OSIAXBILH|(HHHR, ERF| S)
5,000,000 142 70,000
10 ClEE oM RE2 10,500 10,500 0
OF= AZo3 QAFEOH 222
10,500,0002* 13 10,500
11 o=0i383 7,316 14,300 AB,984
Oo® 213 B3
1,935,2102%72*4 5% 122 7,316
12 oA=0IAARHZ 13,655 11,123 2,532
0o R01AY 23
1,935,210 %14 +4 . %+ 12 13,655
301 YEEXZ 6,000 6,000 0
09 QB EH0H] 6,000 6,000 0
OXIHEAl 2 2HRBREAl 28I EH0H|
1,500,0002 4 24*13] 6,000
405 KHAHE SH 3,000 3,000
02 CANFHI 3,000 3,000




IRECENCE
I NYols] 2 NV (LPTTUH/AULsIIB2)
9l: EII® olmE

Sk R (Cro|: &)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
O9F2Y M2CN 7
30,0002 %1002 3,000
LHAlQlE oF2d 279,424 325,237 45,813
101 Q124 46,024 50,564 A4, 540
04 IRHMZZ2IEE S 46,024 50,564 A4,540
OzPIed U 3o=xH BX JI2HH 22X ALY
46,024
—oFg 76,9602 x2 2 *2402 36,941
—=544 76,960 2122 <487 7,389
— X 76,9602+ 118 1,694
201 LB 159,300 165,201 A5,901
01 AF22t2IHI 81,790 53,132 28,658
OEE=I"Ey=l=1s]]
15,00021x205+105 3,000
O2lot oIy 15,00024%335+103] 4,950
O& 40 HI= 60,00021% 105 600
O2AE F=T NA R0
30,00024+20% 600
O=3|9/% U OAARAl BA S AEH]
2,500 %400H 1,000
O3 & AAE|, 2EHE S =HIEE
700,000&4%103] 7,000
OF0l |2ty 23 29 22 g
300,000 123 3,600
OFAL B2ZRIBE 7Y
5,00024*105+303] 1,500
OFAL 2F= &I 2,500,000 13| 2,500
OFAEB SBXY 2lAR
2,000,0002* 12& 24,000
OZIIHHI| ZEH A 110, 000 *24TH 2,640
ODZUt g IS ARE 29
3,000,000 % 14! 3,000
Oo&al & =23|9% 2|5)| £ nHl
350,000 %2274 1,400
OFA HHEA 2 11,000,000 % 14! 11,000
OANAE FI|oHE HH
5,500,0002 %23 11,000
OFI| OHEAAL 242
150,000 123 1,800
OAY OHNAEA 228
1,100,0002%23] 2,200
02 2229 77,510 104,069 26,559
O2E)|, Aguz czt]
9002 *8AI2H* 1202 *8CH 6,912
O2E)|, AUz KX
200,000 +6CH 1,200
OdLer)| S| 7,000




2A:

™ Ngols] 2% X9 (YLBIHE /LR
Sl EI|E AFFA (chel: & 2l)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
—HHED(ANE) MEAZ S|
200,00024%30CH 6,000
— LB |(ABIEE) RA|
200, 00021+5CH 1,000
OgtsdH| |AES 2,000,000 122 24,000
o=, 39S ALRXII
200,00021+53] 1,000
OASIILI 5,540
—=22H(E2 104 0]4)
2,50024%1, 182 2,955
—3|oS(H2 104 0|4)
2,50021%1,034m 2,585
ORI 17,000
—350H13675( S8, ARFE, R0I5LR)
7,000, 0002!1CH 7,000
—28233(5E, ARE, TR)
5,000, 0002!1CH 5,000
~TF7203(BESE, RE, AR)
5,000, 0002*1CH 5,000
OHIEl 45 30,0002+ 107443 1,200
OBAL A5 180,00024+55] 900
OZ2U ofg AL AS
240, 70024533 12,758
203 LA 18,900 18,900
CREEREEES 18,900 18,900 0
O2FAR= FRYP =X
8,100,00021%1 4! 8,100
O2A2E gF =& 6,300,000 * 1Al 6,300
O2YOrMAL U AtRIR|9IS| 2
4,500,00021%1 4! 4,500
IAEEEET T 50,000 50,000 0
01 AIZHI 50,000 50,000 0
O2s M2 AlSRH & LieE4
20,000,0002% 14! 20,000
Ooz|=a HAAL SXEs
30,000,0002% 14! 30,000
405 R S| 5,200 40,572 135,372
01 HANUSEF S| 5,200 40,572 135,372
O2SIAR= 223Z dLig)| &
5,200, 00021%1 4! 5,200
2AAFEHOG N 10,000 5,000 5,000
201 YEr2 S| 10,000 5,000 5,000
03 FA2ZH] 10,000 5,000 5,000
OJA=2T Al225| QRE|S HE
10,000,0002% 13 10,000
EEEEE T CEWCE S EIPIIEY 387,217 344,743 42,474




SA: OBIAIR2
M AHHSHAHI(ASAIRZ) (JIEHIIEH
Cel: ol 29| (CHol: M2l
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
REEEN 204,739 181,559 23,180
REEET] 204,739 181,559 23,180
101 o12A4] 204,739 181,559 23,180
01 B 122,876 100,934 21,942
O2IBIAR2 AlRIQ 2244 122,876
—gt 11, 13024 x20 2 <38 Al 2H+ 122 101,506
—O|& 4BHIN YL 28
11,1304 +2Z*80AI 2+ 122 21,370
03 2RE(RI|HA) 22 RHE 4 81,863 80,625 1,238
OF At 22| 36,900
—JlEa 2,064,2002* 12 *122 24,772
—HE SO 2,064, 2900 *25|x75% 3,097
—H2+g 2,064, 2902 *25%+ 1 H x2S 1,033
—IIESY(HMA)
20,0004 1H =122 240
—AlZtel2 g
12,50624150%+ 15 A1 2H 1 * 122 3,317
—oxteasitey
100,048+ 12 152 1,501
—ZgAlY| 140,0002 %13 x 122 1,680
—uWEEXH| 100,000 %124 128 1,200
OHIN ¥ 44,963
= 2,456,210 % 12% 122 29,475
—SEFOHI 2,456, 2102%23|x75% 3,685
== 2,456, 2102 %508 1 24+23| 2,457
—IIELE(R,2) 20,0002%2% 128 480
— A2t
15, 34821 150%+ 15 A1 2H+1 L * 122 4,144
—oRaEEILY
122, 78424 % 1215 1,842
—HAHFAH| 140,000 *1H* 122 1,680
—NEBXH| 100, 000201122 1,200
DIEETE] 182,478 163, 184 19,204
J|=3| 182,478 163, 184 19,204
201 LB 74,858 71,564 3,294
01 AlR2r2lH] 33,158 26,244 6,914
O=AMEX 7Y 20,000 %238 Ax 122l 5,520
OS204AlH] 8, 0008 *641x23 % * 122 13,248
OLBtEaB 100, 00084+ 122 1,200
OARR SARYH| 50,0002*122 600
OARGE 244 11,210
—SADI(HE) 22l 1,000,000 +3CH 3,000
—Z2IED| 22l 100, 0002 *3CH*50% 150
—=AD| €l 200,0002*53]*3CH 3,000




A

OISINR=

HH2IZHI(AZIARZ) (DIEHDIIEH

PSER
chel: D12 (Chol: ®2l)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
—IRIE(SY) &4
200, 0002 %53/ *3CH 8,000
—I2IE(Ze) Ed
200,000 %53 *1CH 1,000
—PC =cl 100, 00024 *23CH*20% 460
—JIEt 22| 50,00021% 122 600
OJIEH AFR2t2IH] 5,0002+23%x 122 1,380
02 2229 41,700 45,320 3,620
O=ANES RERS 120,000 * 122 1,440
OFse2 2,880
— LSt 70,0004 20H+ 128 1,680
—SUEs 100,000+ 1CH*12& 1,200
oHIIR2 3,000,000+ 122 36,000
OREYS A2 10,000 +6CH* 122 720
OfA8Ys AIBR 20,0002 +20H* 122 480
OYUDE EHEFPC 3l& A2
15,0002 %122 180
202 04| 91,080 75,240 15,840
01 =LHOi] 91,080 75,240 15,840
(OF 8 [:]:] 20,0002 232122 x 122 66,240
Oz2/0dl 90,0002 x23% * 122 24,840
203 AR 9,340 9,180 160
PIEEEEEES 3,300 3,300 0
O2JSAR2E J|22F AR
3,300,000 %1% 3,300
02 HATAARETIH 1,840 1,680 160
OF ARG RFAY| 80,0002 %233 1,840
04 ENSAADLEEIH 4,200 4,200 0
ORAN2ILRFAHI 350,000 * 122 4,200
204 ER4AH| 7,200 7,200 0
NESEEEEES=EE 7,200 7,200
OXMBARLHAY| 7,200
— OIS AR 2 A 350, 00021% 1 S 122 4,200
—ME2R(52) 100,000 22 x 122 2,400
—HE222(63) 50,00021% 1%+ 122 600




